14:50:37 3/21/2012	Public Improvement Assessment Roll by Address Ratification Date:		Project: 19079C2 Assm Resolution #:	nt: 126002	Manager: LM	Page 1
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
Pamela Mercier	ELMWOOD LOT 8 BLK 5	Excavation	1,400.00	1.00	\$1,400.00	09-28-23-14-0116
1601 James Ave		Connection Repair	28.00	9.50	\$266.00	
St Paul MN 55105-2110		Real Estate Admin Fee	1.00	133.28	\$133.28	
*1601 JAMES AVE					\$1,799.28	
*Ward: 3 *Pending as of: 7/15/2011		*** Owner and Taxpay	er ***			
Paul Calvern Schulz	ELMWOOD LOT 20 BLK 8	Excavation	1,400.00	1.00	\$1,400.00	09-28-23-14-0180
Gail Marie Schulz		Connection Repair	28.00	32.00	\$896.00	
1622 James St		Real Estate Admin Fee	1.00	183.68	\$183.68	
St Paul MN 55105-2109				•	\$2,479.68	
<b>*1622 JAMES AVE</b> *Ward: 3		*** Owner and Taxpay	er ***			
*Pending as of: 7/15/2011						
Eric F Welke	ELMWOOD LOT 26 BLK 7	Excavation	1,400.00	1.00	\$1,400.00	09-28-23-14-0165
1662 James Ave		Connection Repair	28.00	8.00	\$224.00	
St Paul MN 55105-2111		Real Estate Admin Fee	1.00	129.92	\$129.92	
*1662 JAMES AVE		delete O 1 T	distrib		\$1,753.92	
*Ward: 3		*** Owner and Taxpay	er ***			
*Pending as of: 7/15/2011						
Karen R Olson	ELMWOOD LOT 25 BLK 7	Excavation	1,400.00	1.00	\$1,400.00	09-28-23-14-0164
1666 James Ave		Connection Repair	28.00	29.50	\$826.00	
St Paul MN 55105-2111		Real Estate Admin Fee	1.00	178.08	\$178.08	
*1666 JAMES AVE				-	\$2,404.08	
*Ward: 3		*** Owner and Taxpay	er ***			

14:50:37 3/21/2012	Public Improvement Assessm	-	Project: 19079C2 Assm Resolution #:	nt: 126002	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
Kathleen Patricia Lamkin	ELMWOOD LOT 24 BLK 7	Excavation	1,400.00	1.00	\$1,400.00	09-28-23-14-0163
Mark Gerald Lamkin		Connection Repair	28.00	24.00	\$672.00	
1670 James Ave		Real Estate Admin Fee	1.00	165.76	\$165.76	
Saint Paul MN 55105-2111					\$2,237.76	
*1670 JAMES AVE		*** Owner and Taxpay	er ***			
*Ward: 3						
*Pending as of: 7/15/2011						
Mark G Lamkin	ELMWOOD LOT 23 BLK 7	Excavation	1,400.00	1.00	\$1,400.00	09-28-23-14-0162
Kathleen P Lamkin		Connection Repair	28.00	27.00	\$756.00	03-28-23-14-0102
1674 James Ave		Real Estate Admin Fee		172.48	\$172.48	
St Paul MN 55105-2111					\$2,328.48	
*1674 JAMES AVE		*** Owner and Taxpay	er ***		\$2,320.40	
*Ward: 3		- · · · · · · · · · · · · · · · · · · ·	-			
*Pending as of: 7/15/2011						
1 chang as of 1 // 15/2011						
Ryan D Gardinier	ELMWOOD LOT 21 BLK 7	Excavation	1,400.00	1.00	\$1,400.00	09-28-23-14-0160
Sally K Gardinier		Connection Repair	28.00	28.00	\$784.00	0, 20 20 11 0100
1684 James Ave		Real Estate Admin Fee	1.00	174.72	\$174.72	
Saint Paul MN 55105-2111					\$2,358.72	
*1684 JAMES AVE		*** Owner and Taxpay	er ***		\$ <b>-</b> ,500.7 <b>-</b>	
Ward: 3						
*Pending as of: 7/15/2011						
1 chang as of. 7/15/2011						
Paul A Winghart	ELMWOOD LOT 20 BLK 7	Excavation	1,400.00	1.00	\$1,400.00	09-28-23-14-0159
Andrea N Wingart		Connection Repair	28.00	30.00	\$840.00	07 20 20 11 0107
1688 James Ave		Real Estate Admin Fee	1.00	179.20	\$179.20	
St Paul MN 55105-2111					\$2,419.20	
*1688 JAMES AVE		*** Owner and Taxpay	er ***		Ψ2,117.20	
TOOD DANIED AVE		olor una ranpuy	<del></del>			

\*Pending as of: 7/15/2011

StPaul\_Assessment\_Roll\_Assessment\_by\_Address

14:50:37 3/21/2012	Public Improvement Assessment Roll by Address Ratification Date: Resolution #:			t: 126002	Manager: LM	Page	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	Property ID	
Mary T Becker	WEBSTER ADDITION TO THE CITY OF		1,400.00	1.00	\$1,400.00	09-28-23-13-0196	
1703 James Ave	ST. PAUL, RAMSEY CO., MINN. LOT 29 BLK 1	Connection Repair	28.00	6.00	\$168.00		
St Paul MN 55105-2114	2) BER 1	Real Estate Admin Fee	1.00	125.44	\$125.44		
*1703 JAMES AVE					\$1,693.44		
*Ward: 3		*** Owner and Taxpayer	***				
*Pending as of: 7/15/2011							
Nicholas Hansen	WEBSTER ADDITION TO THE CITY OF	Excavation	1,400.00	1.00	\$1,400.00	09-28-23-13-0200	
1706 James Ave	ST. PAUL, RAMSEY CO., MINN. SUBJ	Connection Repair	28.00	13.00	\$364.00	0, 20 20 10 0200	
Saint Paul MN 55105-2113	TO ESMTS LOT 3 BLK 2	Real Estate Admin Fee	1.00	141.12	\$141.12		
*1706 JAMES AVE				:	\$1,905.12		
*Ward: 3		*** Owner and Taxpayer	***		,		
*Pending as of: 7/15/2011							
Connie Anderson	WEBSTER ADDITION TO THE CITY OF		1,400.00	1.00	\$1,400.00	09-28-23-13-0195	
1707 James Ave	ST. PAUL, RAMSEY CO., MINN. LOT 28 BLK 1	Connection Repair	28.00	10.50	\$294.00		
St Paul MN 55105-2114	20 BLK 1	Real Estate Admin Fee	1.00	135.52	\$135.52		
*1707 JAMES AVE					\$1,829.52		
*Ward: 3		*** Owner and Taxpayer	***				
*Pending as of: 7/15/2011							
William R Slobotski	WEBSTER ADDITION TO THE CITY OF	Excavation	1,400.00	1.00	\$1,400.00	09-28-23-13-0194	
1711 James Ave	ST. PAUL, RAMSEY CO., MINN. LOT 27 BLK 1	Connection Repair	28.00	9.50	\$266.00		
St Paul MN 55105-2114	2) BER 1	Real Estate Admin Fee	1.00	133.28	\$133.28		
*1711 JAMES AVE					\$1,799.28		
*Ward: 3		*** Owner and Taxpayer	***				
*Pending as of: 7/15/2011							
Robert J Hyland	WEBSTER ADDITION TO THE CITY OF		1,400.00	1.00	\$1,400.00	09-28-23-13-0202	
Sara Therese Eoloff Hyland	ST. PAUL, RAMSEY CO., MINN. LOT 5 BLK 2	Connection repair	28.00	19.00	\$532.00		
1714 James Ave	DER 2	Real Estate Admin Fee	1.00	154.56	\$154.56		
St Paul MN 55105-2113					\$2,086.56		
*1714 JAMES AVE *Ward: 3		*** Owner and Taxpayer	***				

Public Improvement Assessment Roll by Address Ratification Date:		•	126002	Manager: LM	Page 4	
<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>	
WEBSTER ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 25 BLK 1	Connection Repair	1,400.00 28.00	1.00 19.00	\$1,400.00 \$532.00	09-28-23-13-0192	
23 BLK 1	Real Estate Admin Fee	1.00	154.56			
	*** Owner and Taxpay	yer ***		\$2,086.56		
WEBSTER ADDITION TO THE CITY OF	Excavation	1,400.00	1.00	\$1,400.00	09-28-23-13-0191	
ST. PAUL, RAMSEY CO., MINN. LOT Cor	Connection Repair	28.00	7.50	\$210.00	0, 20 20 10 01,1	
24 DEK 1	Real Estate Admin Fee	1.00	128.80			
	*** Owner and Taxpay	yer ***		\$1,738.80		
		1,400.00	1.00	\$1,400.00	09-28-23-13-0189	
ST. PAUL, RAMSEY CO., MINN. LOT 22 BLK 1	-					
	Real Estate Aumin Fet	1.00	109.12			
	*** Owner and Taxpay	yer ***		\$2,283.12		
	Excavation	1,400.00	1.00	\$1,400.00	09-28-23-13-0185	
	Connection Repair		19.00			
	Real Estate Admin Fee	1.00	154.56			
	*** Owner and Taxpay	ver ***		\$2,086.56		
	1 2	,				
MACALESTER COLLEGE ADDITION TO THE CITY OF ST PAUL RAMSEY	Excavation	1,400.00	1.00	\$1,400.00	09-28-23-13-0141	
CO., MINNESOTA LOT 1 BLK 2						
			143.30	\$1,935.36		
	WEBSTER ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 25 BLK 1  WEBSTER ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 24 BLK 1  WEBSTER ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 22 BLK 1  WEBSTER ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 18 BLK 1  MACALESTER COLLEGE ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 18 BLK 1	WEBSTER ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 24 BLK 1  WEBSTER ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 22 BLK 1  WEBSTER ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 22 BLK 1  WEBSTER ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 22 BLK 1  WEBSTER ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 22 BLK 1  WEBSTER ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 22 BLK 1  WEBSTER ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 25 BLK 1  WEBSTER ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINN. LOT ST. PAUL, RAMSEY CO., MI	Ratification Date: Resolution #:  Property Description Item Description Unit Rate  WEBSTER ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 25 BLK 1 Exavation Connection Repair 28.00  Real Estate Admin Fee 1.00  ***Owner and Taxpayer ***  WEBSTER ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 22 BLK 1 Excavation Connection Repair 28.00  Real Estate Admin Fee 1.00  ***Owner and Taxpayer ***  WEBSTER ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 22 BLK 1 Excavation Connection Repair 28.00  Real Estate Admin Fee 1.00  ***Owner and Taxpayer ***  WEBSTER ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINN. LOT Connection Repair 28.00  Real Estate Admin Fee 1.00  ***Owner and Taxpayer ***  WEBSTER ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINN. LOT Real Estate Admin Fee 1.00  ***Owner and Taxpayer ***  WEBSTER ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINN. LOT Real Estate Admin Fee 1.00  ***Owner and Taxpayer ***	Number   Property Description   Item Description   Unit Rate   Quantity	Number   Property Description   Item Description   Unit Rate   Quantity   Charge Amts	

14:50:37 3/21/2012	Public Improvement Assessment	•	roject: 19079C2 Assm esolution#:	nt: 126002	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
Jay A Boss Febbo Sandra E Boss Febbo 1766 James Ave St Paul MN 55105-2115 *1766 JAMES AVE *Ward: 3	MACALESTER COLLEGE ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINNESOTA LOT 2 BLK 2	Excavation Connection Repair Real Estate Admin Fee  *** Owner and Taxpaye	1,400.00 28.00 1.00	1.00 10.00 134.40	\$1,400.00 \$280.00 \$134.40 \$1,814.40	09-28-23-13-0142
*Pending as of: 7/15/2011  Richard W Rodgers Linda L Rodgers 1772 James Ave St Paul MN 55105-2115  *1772 JAMES AVE  *Ward: 3  *Pending as of: 7/15/2011	MACALESTER COLLEGE ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINNESOTA LOT 4 BLK 2	Excavation Connection Repair Real Estate Admin Fee  *** Owner and Taxpaye	1,400.00 28.00 1.00	1.00 29.50 178.08	\$1,400.00 \$826.00 \$178.08 \$2,404.08	09-28-23-13-0144
David B Clark Annick M Deligny 1776 James Ave St Paul MN 55105-2115 *1776 JAMES AVE *Ward: 3 *Pending as of: 7/15/2011	MACALESTER COLLEGE ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINNESOTA LOT 5 BLK 2	Excavation Connection Repair Real Estate Admin Fee  *** Owner and Taxpaye	1,400.00 28.00 1.00	1.00 29.00 176.96	\$1,400.00 \$812.00 \$176.96 \$2,388.96	09-28-23-13-0145
Joseph D Dullea Susan E Dullea 1782 James Ave St Paul MN 55105-2115 *1782 JAMES AVE	MACALESTER COLLEGE ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINNESOTA LOT 6 BLK 2	Excavation Connection Repair Real Estate Admin Fee  *** Owner and Taxpaye	1,400.00 28.00 1.00	1.00 30.00 179.20	\$1,400.00 \$840.00 \$179.20 \$2,419.20	09-28-23-13-0146

14:50:37 3/21/2012	Public Improvement Assessment	•	oject: 19079C2 Assm solution#:	nt: 126002	Manager: LM	Page 6
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
Marilyn K Neitz 1786 James Ave St Paul MN 55105-2115 *1786 JAMES AVE *Ward: 3 *Pending as of: 7/15/2011	MACALESTER COLLEGE ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINNESOTA LOT 7 BLK 2	Excavation Connection Repair Real Estate Admin Fee  *** Owner and Taxpayer	1,400.00 28.00 1.00	1.00 27.50 173.60	\$1,400.00 \$770.00 \$173.60 \$2,343.60	09-28-23-13-0147
Philip R Martin 1788 James Ave St Paul MN 55105-2115 *1788 JAMES AVE *Ward: 3 *Pending as of: 7/15/2011	MACALESTER COLLEGE ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINNESOTA LOT 8 BLK 2	Excavation Connection Repair Real Estate Admin Fee  *** Owner and Taxpayer	1,400.00 28.00 1.00	1.00 25.00 168.00	\$1,400.00 \$700.00 \$168.00 \$2,268.00	09-28-23-13-0148
William B Middleton Marlene F Middleton 1794 James Ave St Paul MN 55105-2115 *1794 JAMES AVE *Ward: 3 *Pending as of: 7/15/2011	MACALESTER COLLEGE ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINNESOTA LOT 9 BLK 2	Excavation Connection Repair Real Estate Admin Fee  *** Owner and Taxpayer	1,400.00 28.00 1.00	1.00 22.00 161.28	\$1,400.00 \$616.00 \$161.28 \$2,177.28	09-28-23-13-0149
Paul J Mader Janice C Mader 1797 James Ave St Paul MN 55105-2116 *1797 JAMES AVE	MACALESTER COLLEGE ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINNESOTA LOT 21 BLK 1	Excavation Connection Repair Real Estate Admin Fee  *** Owner and Taxpayer	1,400.00 28.00 1.00	1.00 30.00 179.20	\$1,400.00 \$840.00 \$179.20 \$2,419.20	09-28-23-13-0132

14:50:37 3/21/2012	Public Improvement Assessm		ect: 19079C2 Assm olution #:	t: 126002	Manager: LM	Page 7
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
Kevin Shevlin	ELMWOOD LOT 9 BLK 1	Excavation	1,400.00	1.00	\$1,400.00	09-28-23-14-0009
Tamara Shevlin		Connection Repair	28.00	31.00	\$868.00	
1605 Juliet Ave		Real Estate Admin Fee	1.00	181.44	\$181.44	
St Paul MN 55105-2118					\$2,449.44	
*1605 JULIET AVE		*** Owner and Taxpayer *	**			
*Ward: 3						
*Pending as of: 7/15/2011						
Robert W Penshorn	ELMWOOD LOT 7 BLK 2	Excavation	1,400.00	1.00	\$1,400.00	09-28-23-14-0033
Patricia B Penshorn Trustees		Connection Repair	28.00	32.00	\$896.00	07-20-23-14-0033
1655 Juliet Ave		Real Estate Admin Fee	1.00	183.68	\$183.68	
St Paul MN 55105-2120					\$2,479.68	
*1655 JULIET AVE *Ward: 3		*** Owner and Taxpayer *	**		4_,	
*Pending as of: 7/15/2011						
Matthew B Celichowski	ELMWOOD LOT 27 BLK 3	Excavation	1,400.00	1.00	\$1,400.00	09-28-23-14-0081
Nicole M Celichowski		Connection Repair	28.00	5.50	\$154.00	
1658 Juliet Ave		Real Estate Admin Fee	1.00	124.32	\$124.32	
St Paul MN 55105-2119					\$1,678.32	
*1658 JULIET AVE		*** Owner and Taxpayer *	**			
*Ward: 3						
*Pending as of: 7/15/2011						
Gerald L Devine	ELMWOOD LOT 25 BLK 3	Excavation	1,400.00	1.00	\$1,400.00	09-28-23-14-0079
Mary K Devine		Connection Repair	28.00	30.00	\$840.00	
1666 Juliet Ave		Real Estate Admin Fee	1.00	179.20	\$179.20	
St Paul MN 55105-2119					\$2,419.20	
*1666 JULIET AVE		*** Owner and Taxpayer *	**			

14:50:37 3/21/2012	Public Improvement Assessment Roll by Address Ratification Date:		Project: 19079C2 Assmt: 126002 Manager: L Resolution #:			LM Page	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>	
Sarah L Jager	ELMWOOD LOT 10 BLK 2	Excavation	1,400.00	1.00	\$1,400.00	09-28-23-14-0036	
Erik K Iverson		Connection Repair	28.00	14.00	\$392.00		
1669 Juliet Ave		Real Estate Admin Fee	1.00	143.36	\$143.36		
St Paul MN 55105-2120				:	\$1,935.36		
*1669 JULIET AVE		*** Owner and Taxpay	er ***		,		
*Ward: 3							
*Pending as of: 7/15/2011							
Katherine L Seck	ELMWOOD LOT 11 BLK 2	Excavation	1,400.00	1.00	\$1,400.00	09-28-23-14-0037	
1671 Juliet Ave		Connection Repair	28.00	30.00	\$840.00		
St Paul MN 55105-2120		Real Estate Admin Fee	1.00	179.20	\$179.20		
*1671 JULIET AVE				•	\$2,419.20		
*Ward: 3		*** Owner and Taxpay	er ***		,		
*Pending as of: 7/15/2011							
Linda K Slattengren	ELMWOOD LOT 12 BLK 2	Excavation	1,400.00	1.00	\$1,400.00	09-28-23-14-0038	
1675 Juliet Ave		Connection Repair	28.00	7.00	\$196.00	07-20-25-14-0050	
St Paul MN 55105-2120		Real Estate Admin Fee	1.00	127.68	\$127.68		
*1675 JULIET AVE				:	\$1,723.68		
*Ward: 3		*** Owner and Taxpay	er ***		Ψ1,723.00		
*Pending as of: 7/15/2011		- · · · · · · · · · · · · · · · · · · ·					
Robert E Hanafin	ELMWOOD LOT 21 BLK 3	Excavation	1,400.00	1.00	\$1,400.00	09-28-23-14-0075	
Janet E Hanafin		Connection Repair	28.00	30.00	\$840.00	U7-20-23-14-UU/3	
1684 Juliet Ave		Real Estate Admin Fee		179.20	\$179.20		
St Paul MN 55105-2119				:	\$2,419.20		
*1684 JULIET AVE		*** Owner and Taxpay	or ***		\$2,419.20		
		Owner and Laxpay	C1				
*Ward: 3							

14:50:37 3/21/2012	-		ject: 19079C2 Assm olution#:	t: 126002	Manager: LM	Page 9	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<u>Property ID</u>	
Abigail Tanya Shipkowitz	ELMWOOD LOT 20 BLK 3	Excavation	1,400.00	1.00	\$1,400.00	09-28-23-14-0074	
1688 Juliet Ave		Connection Repair	28.00	2.00	\$56.00	.,	
St Paul MN 55105-2119		Real Estate Admin Fee	1.00	116.48	\$116.48		
*1688 JULIET AVE					\$1,572.48		
*Ward: 3		*** Owner and Taxpayer *	***				
*Pending as of: 7/15/2011							
Linda Brooks	ELMWOOD LOT 18 BLK 3	Excavation	1,400.00	1.00	\$1,400.00	09-28-23-14-0072	
Joseph F Panone		Connection Repair	28.00	6.00	\$168.00	07 20 20 11 0072	
1696 Juliet Ave		Real Estate Admin Fee	1.00	125.44	\$125.44		
St Paul MN 55105-2119					\$1,693.44		
*1696 JULIET AVE		*** Owner and Taxpayer *	***		, ,		
*Ward: 3							
*Pending as of: 7/15/2011							
Clinton R Ewald	GLENWOOD PARK ADDITION TO	Excavation	1,400.00	1.00	\$1,400.00	09-28-23-13-0087	
Judith A Ewald	THE CITY OF ST. PAUL, RAMSEY CO.,	Connection Repair	28.00	14.00	\$392.00	07-20-23-13-0007	
1700 Juliet Ave	MINN. LOT 1 BLK 4	Real Estate Admin Fee	1.00	143.36	\$143.36		
St Paul MN 55105-2121					\$1,935.36		
*1700 JULIET AVE		*** Owner and Taxpayer *	***		,		
*Ward: 3							
*Pending as of: 7/15/2011							
Andrew O Larson	GLENWOOD PARK ADDITION TO	Excavation	1,400.00	1.00	\$1,400.00	09-28-23-13-0028	
Bridget M Love	THE CITY OF ST. PAUL, RAMSEY CO.,		28.00	30.50	\$854.00	U/ MU MU 10 UUMU	
1701 Juliet Ave	MINN. LOT 30 BLK 1	Real Estate Admin Fee	1.00	180.32	\$180.32		
Saint Paul MN 55102-2122					\$2,434.32		
*1701 JULIET AVE		*** Owner and Taxpayer *	***		,		
		~ -					

14:50:37 3/21/2012	Public Improvement Assessment Roll by Address Ratification Date:		ect: 19079C2 Assm lution#:	t: 126002	Manager: LM	Page 10	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>	
James R Taylor	GLENWOOD PARK ADDITION TO	Excavation	1,400.00	1.00	\$1,400.00	09-28-23-13-0026	
Nancy E Solo Taylor	THE CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 28 BLK 1	Connection Repair	28.00	31.00	\$868.00		
1707 Juliet Ave	MINN. EOT 28 BEK 1	Real Estate Admin Fee	1.00	181.44	\$181.44		
St Paul MN 55105-2122					\$2,449.44		
*1707 JULIET AVE		*** Owner and Taxpayer *	**				
*Ward: 3							
*Pending as of: 7/15/2011							
Grant Edward Johnson	GLENWOOD PARK ADDITION TO	Excavation	1,400.00	1.00	\$1,400.00	09-28-23-13-0024	
Jennifer Rachel Rusch	THE CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 26 BLK 1	Connection Repair	28.00	30.50	\$854.00		
1715 Juliet Ave	MIINN. LOT 20 BLK 1	Real Estate Admin Fee	1.00	180.32	\$180.32		
St Paul MN 55105-2122					\$2,434.32		
*1715 JULIET AVE *Ward: 3 *Pending as of: 7/15/2011		*** Owner and Taxpayer *	**				
Karen M Malmquist	GLENWOOD PARK ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO.,	Excavation  Connection Provide	1,400.00	1.00	\$1,400.00	09-28-23-13-0023	
1717 Juliet Ave	MINN. LOT 25 BLK 1	Connection Repair Real Estate Admin Fee	28.00 1.00	29.00 176.96	\$812.00 \$176.96		
St Paul MN 55105-2122		Real Estate Admini Fee	1.00	170.70			
*1717 JULIET AVE		*** Owner and Taxpayer *	**		\$2,388.96		
*Ward: 3 *Pending as of: 7/15/2011		Owner and Taxpayer					
Nicole Fischer	GLENWOOD PARK ADDITION TO	Excavation	1,400.00	1.00	\$1,400.00	09-28-23-13-0022	
Patrick Fischer	THE CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 24 BLK 1	Connection Repair	28.00	30.00	\$840.00		
1727 Juliet Ave	Manager 21 BERT 1	Real Estate Admin Fee	1.00	179.20	\$179.20		
Saint Paul MN 55105-2122					\$2,419.20		
*1727 JULIET AVE		*** Owner and Taxpayer *	**				

14:50:37 3/21/2012	The state of the s		Project: 19079C2 Assmt: 126002 Resolution #:		Manager: LM	Page 11	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>	
Jerry L Blume Tr Nancy A Blume Tr 1730 Juliet Ave	GLENWOOD PARK ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 9 BLK 4	Excavation Connection Repair Real Estate Admin Fee	1,400.00 28.00 1.00	1.00 17.00 150.08	\$1,400.00 \$476.00 \$150.08	09-28-23-13-0095	
St Paul MN 55105-2121 *1730 JULIET AVE *Ward: 3 *Pending as of: 7/15/2011		*** Owner and Taxpayer			\$2,026.08		
Nancy L Merritt 1735 Juliet Ave St Paul MN 55105-2122 *1735 JULIET AVE *Ward: 3 *Pending as of: 7/15/2011	GLENWOOD PARK ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 22 BLK 1	Excavation Connection Repair Real Estate Admin Fee  *** Owner and Taxpayer	1,400.00 28.00 1.00	1.00 29.00 176.96	\$1,400.00 \$812.00 \$176.96 \$2,388.96	09-28-23-13-0020	
Margaret M Shotkoski Andre K Johnson 1739 Juliet Ave St Paul MN 55105-2122 *1739 JULIET AVE *Ward: 3 *Pending as of: 7/15/2011	GLENWOOD PARK ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 21 BLK 1	Excavation Connection Repair Real Estate Admin Fee  *** Owner and Taxpayer	1,400.00 28.00 1.00	1.00 27.00 172.48	\$1,400.00 \$756.00 \$172.48 \$2,328.48	09-28-23-13-0019	
Katherine A Wederspahn Alexander D Chinn 1743 Juliet Ave St Paul MN 55105-2122 *1743 JULIET AVE	GLENWOOD PARK ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 20 BLK 1	Excavation Connection Repair Real Estate Admin Fee  *** Owner and Taxpayer	1,400.00 28.00 1.00	1.00 5.00 123.20	\$1,400.00 \$140.00 \$123.20 \$1,663.20	09-28-23-13-0018	

14:50:37 3/21/2012	Public Improvement Assessment Roll by Address Ratification Date:		ject: 19079C2 Assm olution#:	t: 126002	Manager: LM	Page 12	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>	
John A Hunter	GLENWOOD PARK ADDITION TO	Excavation	1,400.00	1.00	\$1,400.00	09-28-23-13-0099	
1748 Juliet Ave	THE CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 13 BLK 4	Connection Repair	28.00	5.50	\$154.00		
St Paul MN 55105-2121	WIINN, LOT 13 BLK 4	Real Estate Admin Fee	1.00	124.32	\$124.32		
*1748 JULIET AVE					\$1,678.32		
*Ward: 3		*** Owner and Taxpayer	***				
*Pending as of: 7/15/2011							
Steven E Larson	GLENWOOD PARK ADDITION TO	Excavation	1,400.00	1.00	\$1,400.00	09-28-23-13-0100	
Katherine L Larson	THE CITY OF ST. PAUL, RAMSEY CO.,	Connection Repair	28.00	5.00	\$140.00	07-20-25-15-0100	
1752 Juliet Ave	MINN. LOT 14 BLK 4	Real Estate Admin Fee	1.00	123.20	\$123.20		
St Paul MN 55105-2121					\$1,663.20		
*1752 JULIET AVE		*** Owner and Taxpayer	***		\$1,005. <b>2</b> 0		
*Ward: 3		* *					
*Pending as of: 7/15/2011							
Julie A Kaupa	GLENWOOD PARK ADDITION TO	Excavation	1,400.00	1.00	\$1,400.00	09-28-23-13-0056	
1763 Juliet Ave	THE CITY OF ST. PAUL, RAMSEY CO.,	Connection Repair	28.00	7.50	\$210.00	07 20 20 10 0000	
St Paul MN 55105-2124	MINN. LOT 3O AND EX W 3O FT LOT 29 BLK 2	Real Estate Admin Fee	1.00	128.80	\$128.80		
*1763 JULIET AVE	27 35.11 2				\$1,738.80		
*Ward: 3		*** Owner and Taxpayer	***		. ,		
*Pending as of: 7/15/2011							
Julie L Stroud	GLENWOOD PARK ADDITION TO	Excavation	1,400.00	1.00	\$1,400.00	09-28-23-13-0055	
1767 Juliet Ave	THE CITY OF ST. PAUL, RAMSEY CO., MINN. W 30 FT OF LOT 29 AND E 10	Connection Repair	28.00	33.00	\$924.00		
St Paul MN 55105-2124	FT OF LOT 28 BLK 2	Real Estate Admin Fee	1.00	185.92	\$185.92		
<b>*1767 JULIET AVE</b> *Ward: 3		*** Owner and Taxpayer	***		\$2,509.92		

14:50:37 3/21/2012	Public Improvement Assessment F	•	oject: 19079C2 Assmi solution#:	t: 126002	Manager: LM	Page 13
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
James A Fuschetto	GLENWOOD PARK ADDITION TO	Excavation	1,400.00	1.00	\$1,400.00	09-28-23-13-0054
Laura J Fuschetto	THE CITY OF ST. PAUL, RAMSEY CO., MINN. EX E 10 FT LOT 28 AND EX W	Connection Repair	28.00	12.50	\$350.00	
1771 Juliet Ave	30 FT LOT 27 BLK 2	Real Estate Admin Fee	1.00	140.00	\$140.00	
St Paul MN 55105-2124					\$1,890.00	
*1771 JULIET AVE		*** Owner and Taxpayer	· ***			
*Ward: 3						
*Pending as of: 7/15/2011						
Tamma Marie Rothstein	GLENWOOD PARK ADDITION TO	Excavation	1,400.00	1.00	\$1,400.00	09-28-23-13-0060
Terrance Cashman	THE CITY OF ST. PAUL, RAMSEY CO.,	Connection Repair	28.00	27.50	\$770.00	0, 20 20 10 0000
1774 Juliet Ave	MINN. LOT 4 BLK 3	Real Estate Admin Fee	1.00	173.60	\$173.60	
St Paul MN 55105-2123					\$2,343.60	
*1774 JULIET AVE *Ward: 3 *Pending as of: 7/15/2011		*** Owner and Taxpayer	***		,	
Richard Ray Clemas	GLENWOOD PARK ADDITION TO	Excavation	1,400.00	1.00	\$1,400.00	09-28-23-13-0051
Harriette L Manis	THE CITY OF ST. PAUL, RAMSEY CO., MINN. W 20 FT OF LOT 25 AND EX W	Connection Repair	28.00	9.50	\$266.00	
1785 Juliet Ave	10 FT LOT 24 BLK 2	Real Estate Admin Fee	1.00	133.28	\$133.28	
St Paul MN 55105-2124					\$1,799.28	
*1785 JULIET AVE		*** Owner and Taxpayer	***			
*Ward: 3						
*Pending as of: 7/15/2011						
Wayne Sultan	GLENWOOD PARK ADDITION TO	Excavation	1,400.00	1.00	\$1,400.00	09-28-23-13-0063
Maureen R Sultan	THE CITY OF ST. PAUL, RAMSEY CO., MINN. E 5 FT OF LOT 8 AND W 3/4 OF	Connection Repair	28.00	8.00	\$224.00	
1786 Juliet Ave	LOT 7 BLK 3	Real Estate Admin Fee	1.00	129.92	\$129.92	
St Paul MN 55105-2123					\$1,753.92	
*1786 JULIET AVE		*** Owner and Taxpayer	***			

14:50:37 3/21/2012	Public Improvement Assessment Roll by Address Ratification Date:		ect: 19079C2 Assm	t: 126002	Manager: LM	Page 14	
Owner or Taxpayer	<b>Property Description</b>	Item Description	<b>Unit Rate</b>	Quantity	<b>Charge Amts</b>	Property ID	
Jennifer M Dorfsman Scott B Wertkin 1789 Juliet Ave	GLENWOOD PARK ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINN. W 10 FT OF LOT 24 AND ALL OF LOT 23 BLK 2	Excavation Connection Repair Real Estate Admin Fee	1,400.00 28.00 1.00	1.00 7.50 128.80	\$1,400.00 \$210.00 \$128.80	09-28-23-13-0050	
St Paul MN 55105-2124 *1789 JULIET AVE *Ward: 3 *Pending as of: 7/15/2011		*** Owner and Taxpayer **	**		\$1,738.80		
Jean M Henrichsen 1806 Juliet Ave	GLENWOOD PARK ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO.,	Excavation Connection Repair	1,400.00 28.00	1.00 21.00	\$1,400.00 \$588.00	09-28-23-13-0068	
St Paul MN 55105-2123 * <b>1806 JULIET AVE</b>	MINN. LOT 12 BLK 3	Real Estate Admin Fee	1.00	159.04	\$159.04 \$2,147.04		
*Ward: 3 *Pending as of: 7/15/2011		*** Owner and Taxpayer **	**				
Dorothy L Brandt Joseph G Brandt 1807 Juliet Ave	GLENWOOD PARK ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINN. EX W 20 FT LOT 18 AND EX E 10 FT LOT 19 BLK 2	Excavation Connection Repair Real Estate Admin Fee	1,400.00 28.00 1.00	1.00 29.00 176.96	\$1,400.00 \$812.00 \$176.96	09-28-23-13-0046	
St Paul MN 55105-2124 *1807 JULIET AVE *Ward: 3 *Pending as of: 7/15/2011		*** Owner and Taxpayer **	**		\$2,388.96		
Roger W Arechiga Karen A Arechiga	ELMWOOD LOT 18 BLK 1	Excavation Connection Repair	1,400.00 28.00	1.00 31.00	\$1,400.00 \$868.00	09-28-23-14-0018	
366 Macalester St St Paul MN 55105-2126 * <b>366 MACALESTER ST</b>		Real Estate Admin Fee  *** Owner and Taxpayer ***	1.00	181.44	\$181.44 \$2,449.44		

14:50:37 3/21/2012	Public Improvement Assessment Roll by Address Ratification Date:		Project: 19079C2 Assmt: 126002 Resolution #:		Manager: LM	Page 15
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
William G Moseley	ELMWOOD LOT 17 BLK 1	Excavation	1,400.00	1.00	\$1,400.00	09-28-23-14-0017
Julia A Earl		Connection Repair	28.00	31.50	\$882.00	
372 Macalester St		Real Estate Admin Fee	1.00	182.56	\$182.56	
St Paul MN 55105-2126					\$2,464.56	
*372 MACALESTER ST		*** Owner and Taxpayer ***	k			
*Ward: 3						
*Pending as of: 7/15/2011						
Kathleen J Mcmahon	ELMWOOD LOT 4 BLK 2	Excavation	1,400.00	1.00	\$1,400.00	09-28-23-14-0030
377 Macalester St		Connection Repair	28.00	10.00	\$280.00	
St Paul MN 55105-2125		Real Estate Admin Fee	1.00	134.40	\$134.40	
*377 MACALESTER ST					\$1,814.40	
*Ward: 3		*** Owner and Taxpayer ***	k .			
*Pending as of: 7/15/2011						
Deanne Kay Levander	ELMWOOD LOT 5 BLK 2	Excavation	1,400.00	1.00	\$1,400.00	09-28-23-14-0031
381 Macalester St		Connection Repair	28.00	18.50	\$518.00	
St Paul MN 55105-2125		Real Estate Admin Fee	1.00	153.44	\$153.44	
*381 MACALESTER ST					\$2,071.44	
*Ward: 3		*** Owner and Taxpayer ***	k .			
*Pending as of: 7/15/2011						
Gustav A Moline	ELMWOOD LOT 19 BLK 5	Excavation	1,400.00	1.00	\$1,400.00	09-28-23-14-0127
Melva D Moline		Connection Repair	28.00	9.00	\$252.00	0, 20 20 11 012,
424 Macalester St		Real Estate Admin Fee	1.00	132.16	\$132.16	
St Paul MN 55105-2130					\$1,784.16	
*424 MACALESTER ST		*** Owner and Taxpayer ***	k		* 9	

14:50:37 3/21/2012	Public Improvement Assessment	ent Roll by Address Ratification Date:	Project: 19079C2 Assm	t: 126002	Manager: LM	Page 1
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
Mary J Truso	ELMWOOD LOT 17 BLK 5	Excavation	1,400.00	1.00	\$1,400.00	09-28-23-14-0125
432 Macalester St		Connection Repair	28.00	20.00	\$560.00	
St Paul MN 55105-2130		Real Estate Admin Fe	ee 1.00	156.80	\$156.80	
*432 MACALESTER ST					\$2,116.80	
*Ward: 3		*** Owner and Taxpa	ayer ***			
*Pending as of: 7/15/2011						
James P Shields	ELMWOOD LOT 26 BLK 5	Excavation	1,400.00	1.00	\$1,400.00	09-28-23-14-0134
2922 Aldrich Ave S Apt 305		Connection Repair	28.00	24.00	\$672.00	07-20-25-14-0154
Minneapolis MN 55408-4296		Real Estate Admin Fe	ee 1.00	165.76	\$165.76	
*1598 PALACE AVE					\$2,237.76	
*Ward: 3		*** Owner and Taxpa	aver ***		Ψ2,237.70	
*Pending as of: 7/15/2011		1				
	CIMINOD LOT TRUE A		1 400 00	1.00	Ø1 400 00	
David R Toeniskoetter	ELMWOOD LOT 7 BLK 4	Excavation	1,400.00	1.00 28.00	\$1,400.00	09-28-23-14-0089
Jane A Toeniskoetter		Connection Repair Real Estate Admin Fe	28.00 ee 1.00	174.72	\$784.00 \$174.72	
1599 Palace Ave		Real Estate Autilii Fe	1.00	1/4./2		
St Paul MN 55105-2134		*** 0 1 T	# # #		\$2,358.72	
*1599 PALACE AVE		*** Owner and Taxpa	ayer ***			
*Ward: 3						
*Pending as of: 7/15/2011						
Jeanne M Scanlan	ELMWOOD LOT 25 BLK 5	Excavation	1,400.00	1.00	\$1,400.00	09-28-23-14-0133
1602 Palace Ave		Connection Repair	28.00	6.00	\$168.00	22 23 21 0100
St Paul MN 55105-2133		Real Estate Admin Fe	ee 1.00	125.44	\$125.44	
*1602 PALACE AVE					\$1,693.44	
*Ward: 3		*** Owner and Taxpa	ayer ***		¥-,***···	

14:50:37 3/21/2012	Public Improvement Assessm	ent Roll by Address Ratification Date:	Project: 19079C2 Assm Resolution #:	t: 126002	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
David R Toeniskoetter	ELMWOOD LOT 8 BLK 4	Excavation	1,400.00	1.00	\$1,400.00	09-28-23-14-0090
Jane A Toeniskoetter		Connection Repair	28.00	31.00	\$868.00	
1603 Palace Ave		Real Estate Admin Fo	ee 1.00	181.44	\$181.44	
St Paul MN 55105-2134					\$2,449.44	
*1603 PALACE AVE *Ward: 3 *Pending as of: 7/15/2011		*** Owner and Taxpa	ayer ***			
John H Tradewell	ELMWOOD LOT 24 BLK 5	Excavation	1,400.00	1.00	\$1,400.00	09-28-23-14-0132
606 Palace Ave		Connection Repair	28.00	5.50	\$154.00	
st Paul MN 55105-2133		Real Estate Admin Fe	ee 1.00	124.32	\$124.32	
1606 PALACE AVE		duded: O 1 T	ale ale ale		\$1,678.32	
*Ward: 3 *Pending as of: 7/15/2011		*** Owner and Taxpa	ayer ***			
Donna M Brittain 1607 Palace Ave St Paul MN 55105-2134 *1607 PALACE AVE *Ward: 3 *Pending as of: 7/15/2011	ELMWOOD LOT 9 BLK 4	Excavation Connection Repair Real Estate Admin Fo		1.00 29.50 178.08	\$1,400.00 \$826.00 \$178.08 \$2,404.08	09-28-23-14-0091
Pamela J Liggett Donald K Leehan 1610 Palace Ave St Paul MN 55105-2133 *1610 PALACE AVE	ELMWOOD LOT 23 BLK 5	Excavation Connection Repair Real Estate Admin Fo		1.00 3.00 118.72	\$1,400.00 \$84.00 \$118.72 \$1,602.72	09-28-23-14-0131

14:50:37 3/21/2012	Public Improvement Assessment Roll by Address Ratification Date:		Project: 19079C2 Assmt: 126002 Manager: LM Resolution #:			Page 1
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
Mary C Harens	ELMWOOD LOT 22 BLK 5	Excavation	1,400.00	1.00	\$1,400.00	09-28-23-14-0130
Brian J Harens		Connection Repair	28.00	24.50	\$686.00	.,
1614 Palace Ave		Real Estate Admin Fo	ee 1.00	166.88	\$166.88	
Saint Paul MN 55105-2133					\$2,252.88	
*1614 PALACE AVE		*** Owner and Taxpa	ayer ***			
*Ward: 3						
*Pending as of: 7/15/2011						
Carlos Casillas	ELMWOOD LOT 11 BLK 4	Excavation	1,400.00	1.00	\$1,400.00	09-28-23-14-0093
Marylou S Casillas		Connection Repair	28.00	30.00	\$840.00	07-20-25-14-0075
1615 Palace Ave		Real Estate Admin Fo	ee 1.00	179.20	\$179.20	
St Paul MN 55105-2134					\$2,419.20	
*1615 PALACE AVE		*** Owner and Taxpa	ayer ***		φ2,119.20	
*Ward: 3						
*Pending as of: 7/15/2011						
Gregory T Mergens	ELMWOOD LOT 12 BLK 4	Excavation	1,400.00	1.00	\$1,400.00	09-28-23-14-0094
Sara W Mergens		Connection Repair	28.00	16.50	\$462.00	
1619 Palace Ave		Real Estate Admin Fo	ee 1.00	148.96	\$148.96	
St Paul MN 55105-2134					\$2,010.96	
*1619 PALACE AVE		*** Owner and Taxpa	ayer ***			
*Ward: 3						
*Pending as of: 7/15/2011						
Mary B Cerkvenik	ELMWOOD LOT 20 BLK 5	Excavation	1,400.00	1.00	\$1,400.00	09-28-23-14-0128
David S Norrgard		Connection Repair	28.00	11.50	\$322.00	
1622 Palace Ave		Real Estate Admin Fo	ee 1.00	137.76	\$137.76	
St Paul MN 55105-2133					\$1,859.76	
*1622 PALACE AVE		*** Owner and Taxpa	ayer ***			

14:50:37 3/21/2012	Public Improvement Assessm	-	oject: 19079C2 Assm solution#:	t: 126002	Manager: LM	Page 19
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
David J Horner Emily M Horner 1659 Palace Ave	ELMWOOD LOT 8 BLK 3	Excavation Connection Repair Real Estate Admin Fee	1,400.00 28.00 1.00	1.00 31.50 182.56	\$1,400.00 \$882.00 \$182.56	09-28-23-14-0062
Saint Paul MN 55105-2136 *1659 PALACE AVE *Ward: 3 *Pending as of: 7/15/2011		*** Owner and Taxpayer	***		\$2,464.56	
William A Young Helen M Young 1663 Palace Ave St Paul MN 55105-2136 *1663 PALACE AVE *Ward: 3 *Pending as of: 7/15/2011	ELMWOOD LOT 9 BLK 3	Excavation Connection Repair Real Estate Admin Fee  *** Owner and Taxpayer	1,400.00 28.00 1.00	1.00 6.50 126.56	\$1,400.00 \$182.00 \$126.56 \$1,708.56	09-28-23-14-0063
Barbara J Finnemann Gary J Finnemann 1675 Palace Ave St Paul MN 55105-2136 *1675 PALACE AVE *Ward: 3 *Pending as of: 7/15/2011	ELMWOOD LOT 12 BLK 3	Excavation Connection Repair Real Estate Admin Fee  *** Owner and Taxpayer	1,400.00 28.00 1.00	1.00 6.00 125.44	\$1,400.00 \$168.00 \$125.44 \$1,693.44	09-28-23-14-0066
Joshua Oberheide Molly Oberheide 1679 Palace Ave Saint Paul MN 55105-2136 *1679 PALACE AVE	ELMWOOD LOT 13 BLK 3	Excavation Connection Repair Real Estate Admin Fee  *** Owner and Taxpayer	1,400.00 28.00 1.00	1.00 16.00 147.84	\$1,400.00 \$448.00 \$147.84 \$1,995.84	09-28-23-14-0067

14:50:37 3/21/2012	Public Improvement Assessment R	· · · · · · · · · · · · · · · · · · ·	roject: 19079C2 Assmt	: 126002	Manager: LM	Page 20
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
Gregory J Wahl 1685 Palace Ave St Paul MN 55105-2136 *1685 PALACE AVE *Ward: 3	ELMWOOD LOT 14 BLK 3	Excavation Connection Repair Real Estate Admin Fee  *** Owner and Taxpaye	1,400.00 28.00 1.00	1.00 0.00 112.00	\$1,400.00 \$0.00 \$112.00 \$1,512.00	09-28-23-14-0068
*Pending as of: 7/15/2011		O WHO! WHA TWIPMYO	-			
Charles G Moinichen Sandra L Moinichen 1689 Palace Ave St Paul MN 55105-2136 *1689 PALACE AVE *Ward: 3 *Pending as of: 7/15/2011	ELMWOOD LOT 15 BLK 3	Excavation Connection Repair Real Estate Admin Fee  *** Owner and Taxpaye	1,400.00 28.00 1.00	1.00 6.00 125.44	\$1,400.00 \$168.00 \$125.44 \$1,693.44	09-28-23-14-0069
Michael V Johnson Carman C Coffman Johnson 1701 Palace Ave St Paul MN 55105-2138 *1701 PALACE AVE *Ward: 3 *Pending as of: 7/15/2011	GLENWOOD PARK ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 30 BLK 4	Excavation Connection Repair Real Estate Admin Fee  *** Owner and Taxpaye	1,400.00 28.00 1.00	1.00 34.00 188.16	\$1,400.00 \$952.00 \$188.16 \$2,540.16	09-28-23-13-0116
Adrienne Brown 1704 Palace Ave Saint Paul MN 55105-2137 *1704 PALACE AVE *Ward: 3	WEBSTER ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 2 BLK 1		1,400.00 28.00 1.00	1.00 23.50 164.64	\$1,400.00 \$658.00 \$164.64 \$2,222.64	09-28-23-13-0169

14:50:37 3/21/2012			Project: 19079C2 Assmt: 126002 Manager: LM Resolution #:			Page 21	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>	
Reza Taghavi	GLENWOOD PARK ADDITION TO	Excavation	1,400.00	1.00	\$1,400.00	09-28-23-13-0115	
Betsy Parrish	THE CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 29 BLK 4	Connection Repair	28.00	5.00	\$140.00		
1705 Palace Ave	MINN, EOT 27 BEK 4	Real Estate Admin Fee	1.00	123.20	\$123.20		
St Paul MN 55105-2138					\$1,663.20		
*1705 PALACE AVE		*** Owner and Taxpayer '	***				
*Ward: 3							
*Pending as of: 7/15/2011							
Loren R Danielson	WEBSTER ADDITION TO THE CITY OF		1,400.00	1.00	\$1,400.00	09-28-23-13-0171	
Christine M Danielson	ST. PAUL, RAMSEY CO., MINN. LOT 4 BLK 1	Connection Repair	28.00	5.00	\$140.00		
1710 Palace Ave	BER 1	Real Estate Admin Fee	1.00	123.20	\$123.20		
St Paul MN 55105-2137					\$1,663.20		
*1710 PALACE AVE *Ward: 3 *Pending as of: 7/15/2011		*** Owner and Taxpayer '	***				
Winston Kaehler 1712 Palace Ave	WEBSTER ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINN. E 1 FT	Excavation Connection Repair	1,400.00 28.00	1.00 27.00	\$1,400.00 \$756.00	09-28-23-13-0172	
St Paul MN 55105-2137	OF LOT 6 AND ALL OF LOT 5 BLK 1	Real Estate Admin Fee	1.00	172.48	\$172.48		
*1712 PALACE AVE					\$2,328.48		
*Ward: 3 *Pending as of: 7/15/2011		*** Owner and Taxpayer '	***		\$2,320.10		
Mary C Greeley	WEBSTER ADDITION TO THE CITY OF		1,400.00	1.00	\$1,400.00	09-28-23-13-0173	
Chad J Greeley	ST. PAUL, RAMSEY CO., MINN. EX E 1 FT LOT 6 BLK 1	Connection Repair	28.00	26.00	\$728.00		
1718 Palace Ave	TI DOT OBER 1	Real Estate Admin Fee	1.00	170.24	\$170.24		
Saint Paul MN 55105-2137 <b>*1718 PALACE AVE</b>		*** Owner and Taxpayer	***		\$2,298.24		

14:50:37 3/21/2012

\*Ward: 3

14:50:37 3/21/2012	Public Improvement Assessment Roll by Address Ratification Date:		oject: 19079C2 Assm solution#:	t: 126002	Manager: LM	Page 24	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	Property ID	
John C Michel	GLENWOOD PARK ADDITION TO	Excavation	1,400.00	1.00	\$1,400.00	09-28-23-13-0085	
Helen L Michel	THE CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 29 BLK 3	Connection repair	28.00	27.00	\$756.00		
1767 Palace Ave	WHININ, EOT 29 BEK 3	Real Estate Admin Fee	1.00	172.48	\$172.48		
St Paul MN 55105-2140					\$2,328.48		
*1767 PALACE AVE		*** Owner and Taxpayer	***				
*Ward: 3							
*Pending as of: 7/15/2011							
Benjamin H Hamilton	MACALESTER COLLEGE ADDITION	Excavation	1,400.00	1.00	\$1,400.00	09-28-23-13-0119	
Alicia Munoz	TO THE CITY OF ST. PAUL, RAMSEY	Connection Repair	28.00	31.00	\$868.00	0, 20 20 10 011,	
1772 Palace Ave	CO., MINNESOTA LOT 3 BLK 1	Real Estate Admin Fee	1.00	181.44	\$181.44		
Saint Paul MN 55105-2139				•	\$2,449.44		
* <b>1772 PALACE AVE</b> *Ward: 3 *Pending as of: 7/15/2011		*** Owner and Taxpayer	***				
Herman H Westreich	MACALESTER COLLEGE ADDITION	Excavation	1,400.00	1.00	\$1,400.00	09-28-23-13-0121	
Danielle A Salus	TO THE CITY OF ST. PAUL, RAMSEY	Connection Repair	28.00	16.50	\$462.00	0, 20 20 10 0121	
1776 Palace Ave	CO., MINNESOTA LOT 5 BLK 1	Real Estate Admin Fee	1.00	148.96	\$148.96		
St Paul MN 55105-2139				'	\$2,010.96		
*1776 PALACE AVE		*** Owner and Taxpayer	***				
*Ward: 3							
*Pending as of: 7/15/2011							
Ronald B Weisman	GLENWOOD PARK ADDITION TO	Excavation	1,400.00	1.00	\$1,400.00	09-28-23-13-0081	
Bonita J Weisman	THE CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 25 BLK 3	Connection Repair	28.00	16.50	\$462.00		
1781 Palace Ave	WHINN, LOT 23 DLK 3	Real Estate Admin Fee	1.00	148.96	\$148.96		
St Paul MN 55105-2140				'	\$2,010.96		
*1781 PALACE AVE		*** Owner and Taxpayer	***				

14:50:37 3/21/2012	Public Improvement Assessment Roll by Address Ratification Date:		Project: 19079C2 Assmt: 126002 Manager: LM Resolution #:			Page 25	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>	
Joshua A Wodarz Zoe Wodarz	MACALESTER COLLEGE ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINNESOTA LOT 8 BLK 1	Excavation Connection Repair	1,400.00 28.00	1.00 15.00	\$1,400.00 \$420.00	09-28-23-13-0124	
1788 Palace Ave Saint Paul MN 55105-2139 *1788 PALACE AVE *Ward: 3 *Pending as of: 7/15/2011		Real Estate Admin Fee  *** Owner and Taxpayer ***	1.00	145.60	\$145.60 \$1,965.60		
Carol O Swan Trustee 1793 Palace Ave Saint Paul MN 55105-2140 *1793 PALACE AVE *Ward: 3 *Pending as of: 7/15/2011	GLENWOOD PARK ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 22 BLK 3	Excavation Connection Repair Real Estate Admin Fee  *** Owner and Taxpayer ***	1,400.00 28.00 1.00	1.00 11.00 136.64	\$1,400.00 \$308.00 \$136.64 \$1,844.64	09-28-23-13-0078	
Anthony L Schertler Greta H Schertler 1797 Palace Ave St Paul MN 55105-2140 *1797 PALACE AVE *Ward: 3 *Pending as of: 7/15/2011	GLENWOOD PARK ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 21 BLK 3	Excavation Connection Repair Real Estate Admin Fee  *** Owner and Taxpayer ***	1,400.00 28.00 1.00	1.00 31.00 181.44	\$1,400.00 \$868.00 \$181.44 \$2,449.44	09-28-23-13-0077	
Jordan C Nicholas 1811 Palace Ave St Paul MN 55105-2140 *1811 PALACE AVE *Ward: 3	SCHULTZ REAR. VAC ALLEY E OF AND ADJ AND EX W 78 18/100 FT LOTS 1 2 AND LOT 3	Excavation Connection Repair Real Estate Admin Fee  *** Owner and Taxpayer ***	1,400.00 28.00 1.00	1.00 26.50 171.36	\$1,400.00 \$742.00 \$171.36 \$2,313.36	09-28-23-13-0074	

StPaul\_Assessment\_Roll\_Assessment\_by\_Address

14:50:37 3/21/2012	<b>Public Improvement Assessment</b>	Roll by Address Ratification Date:	Project: 19079C2 As Resolution #:	smt: 126002	Manager: LM	Page 26
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	Unit Rate	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
Kraig W Stewardson	SCHULTZ REAR. E 40 FT OF W 78 18/100 FT OF LOTS 1 2 AND LOT 3	Excavation Connection Repair	1,400.00 28.00			09-28-23-13-0073
1815 Palace Ave St Paul MN 55105-2140		Real Estate Admin Fe				
*1815 PALACE AVE *Ward: 3 *Pending as of: 7/15/2011		*** Owner and Taxpa	ıyer ***		\$1,769.04	
Total Excavation: Total Connection Repair: Total Real Estate Admin Fee:	\$144,200.00 \$54,740.00 \$15,915.20					
Project Total:	\$214,855.20					
<b>Less Total Discounts:</b>	\$0.00	Residential Fr	ontage: 28.00	1,955.00	\$54,740.00	
Project Total:	\$214,855.20					

103 Parcel(s)
0 Exempt Parcel(s)